\* Polar form of a complex number: 3



pency

Z= ntiy, n= rcozo, y= rsino

=) 
$$Y = 2442$$
  
=)  $Y = \sqrt{2442}$ 

$$\Rightarrow$$
  $|z| = |n+iy| = \sqrt{n^2 + y^2} = x_2$ 

Z = n+iy = rcopo+iomo

of Properties of the modulus:

If z = x+iy (x, y real), then [z] = 52 21 6/2 CO. UK

(a) |z| = |z|

(b) zz = 184

(c) zz = 184

(d) zz = 184

Preview 17 of 20
Preview Page 7 of 20

(e) the distance between two points zit zz is

$$+ i \left[ \alpha(x, \lambda) + \left( 2x \frac{3x}{3n} + 2\lambda \frac{3\lambda}{3n} \right) + \frac{1}{5} i \left[ (2x)_{5} \frac{3x}{3n} + (2\lambda)_{5} \frac{3\lambda}{3n} + (3\lambda)_{5} \frac{3\lambda}{3n} + (3\lambda)$$

$$= \left[ U(n,y) + i \, \omega(n,y) \right] + \Delta x \left( \frac{\partial y}{\partial x} + i \frac{\partial v}{\partial x} \right) + \Delta y \left[ \frac{\partial y}{\partial y} + i \frac{\partial v}{\partial y} \right] + \cdots$$
nuglecting higher order derivative...

$$= f(z) + \Delta x \left( \frac{\partial y}{\partial x} + i \frac{\partial u}{\partial x} \right) + \Delta y \left( \frac{\partial y}{\partial y} + i \frac{\partial u}{\partial y} \right)$$

$$\Rightarrow f(z+\Delta z) - f(z) = \Delta x \left( \frac{\partial y}{\partial x} + i \frac{\partial y}{\partial x} + i \frac{\partial y}{\partial x} \right)$$

## $f(z+\Delta z) - f(z) = \Delta x \left( \frac{\partial y}{\partial x} + i \frac{\partial u}{\partial x} + i \frac{\partial u}{\partial x} + i \frac{\partial y}{\partial x} \right)$ $20 \left( \frac{\partial y}{\partial x} - \frac{\partial u}{\partial x} + i \frac{\partial u}{\partial x} \right)$ $20 \left( \frac{\partial y}{\partial x} - \frac{\partial u}{\partial x} + i \frac{\partial u}{\partial x} \right)$ $20 \left( \frac{\partial u}{\partial x} + i \frac{\partial u}{\partial x} \right)$ $20 \left( \frac{\partial u}{\partial x} + i \frac{\partial u}{\partial x} \right)$ $+(\Delta A)$ $\left(\frac{\partial A}{\partial A}+(\frac{\partial B}{\partial B})\right)=\nabla S\left(\frac{\partial A}{\partial A}+(\frac{\partial B}{\partial B})\right)$

$$\Rightarrow \frac{f(z+\Delta z)-f(z)}{\Delta z} = \frac{\partial y}{\partial x} + i \frac{\partial v}{\partial x} = \frac{\partial}{\partial x} \left( u + i v \right) = \frac{\partial}{\partial x} (f)$$

taking limit both sides as Az->0, we have

$$f'(z) = \frac{3x}{3+}$$

$$f'(z) = \frac{3x}{3+}$$

similarly f'(z) = of and also given un= by & uy=-10x and these are contin in D. i. f(2) is analytic in D.

Now 
$$f'(e) = \lim_{z \to 0} \frac{f(z) - f(0)}{z - 0} = \lim_{z \to 0} \frac{f(z) - f(0)}{z}$$
$$= \lim_{z \to 0} \frac{f(z)}{z}$$

$$f'(0) = \lim_{\substack{\chi \to 0 \\ y \to 0}} \frac{(\chi^2 + y^2) + i(\chi^3 + y^3)}{(\chi^2 + y^2) (\chi^2 + y^2)}$$

(a) along 
$$x-axib$$
: then  $y=0$  in (A) we get 
$$f'(0) = \lim_{n\to 0} \frac{x^3 + ix^3}{x^3} = 1 + i$$

(b) along 
$$y-\alpha \times 1b$$
: then  $x=0$  in  $\widehat{A}$  we get
$$f'(0) = \lim_{y\to 0} \frac{-y^3+iy^3}{iy^3} = \frac{i-1}{i} = 1+i$$

$$f'(0) = \lim_{n\to 0} \frac{(x^3 - x^3) + i(x^3 + x^3)}{(x^2 + x^2)(x + ix)} = \lim_{n\to 0} \frac{x i x^3}{(x^2 + x^2)} = \lim_{n\to 0} \frac{x i$$

DINEYE) is not alle at zeo Problem 1 If 4-10 = (n-y) (n2+4 ny xy2) and f(z) = u+i o is an analytic fund of z = xxiy, find f(z) in terms of z.

adding O and O, we get (1+i)f(z) = (u-v) + i (u+v)